Data: Q,«o, P, P, S
Output: ¢’
for k — 0 up to |S|—1do
for i — 0 up to |Q| — 1 do
V[i][k] «— —oo;
T[i][k] — NIL;
end
end
for i — 1 up to |Q| — 1 do
V{il[0] — log(P;(ailao) + log(P.(S[0]]ax));
if V[i][0] > —oo then
i

| T(i0] o
end

end

for k — 1 up to |S| —1do

for i € Aepnit[S[k]] do

fOI‘ .7 € )\trans [qJ dO
v — V[jl[k — 1] + log(Pi(qilq;)) + log(Pe(S[k][4:));
if v > Vi][k] then

V]i][k] < v;
Tfi][k] — j;
end
end
end

end

y—1

push ¢, 0;

for i — 2 up to |Q| — 1 do
it VIiJ[S] - 1] + log(Pi(aola)) > VIsl[S] — 1] + log(Pi(qolgy)) then
|y —i;
end

end
for &k —|S|—1 down to 0 do

push ¢, y;

y < Tly][kl;
end
push ¢,0;
return ¢

Algorithm 1: The Viterbi algorithm



